Probability Nam@

AZRCC U10D6 Practice for Quest 10 ~_

i/ 1} The probability that Gary and Jane have a child with blue eyes is 0.25, and the probability that they have a child
with blond hair is 0.5. The probability that they have a child with both blue eyes and blond hair is 0.125. Given

this information, the events blue eyes and blond hair are 1S PrAN PR E Pran T
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/2) On a given school day, the probability that Nick e S FES
oversleeps 1s 48% and the probability he has a pop - .
quiz is 25%. Assuming these two events are prpo RTE 254,85 - g
overs| a pop quiz on the same day? ' .
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/ 3) Data for the students enrolled in a local high school
are shown in the Venn diagram below.

If a student from the high school is selected at
random, what is the probability that the student is a
sophomore given that the student is enrolled in
Algebra 11?7
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4) Sean's team has a baseball game tomorrow. He I
itches 50% of the games. There is a 40% chance ¥ (1’2 \ R \
uring the game tomorrow. Ifthe . o p e

probability that it raindigivenithat Sean pitches is = / dhepoydie

a, it can be concluded that these two events are
1}/ independent N S
dependmt '{/ { ’y_é’_' ‘_! - y R
3) mutually exclusive
4) complements
/ 5) A fast-food restaurant analyzes data to better serve
' its customers. After its analysis, it discovers that
the events D, that a customer uses the drive-thru, e
and F, that a customer orders French fries, are eincg v e CORRER
—[ he following data are given in a . \
: - = PCEN T2
report: 0{) ( t:~> ¢ DB '
PF)=08 g C(D) = LSRG
P(F D) =0.456 '
Given this information, P(F|D) i Peo) = .57
iven this information, is - _
— 1 TV = + qﬂz—) Co, - F ?),
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2) 0.3648 . L e
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\// 6) Suppose events A and B areindependent and

Which statement could be rue? |
P(A) =04, A(B) =03, PAorB)=05 [, -4 .-
P(4) = 0.8, P(B) = 0.25 i
3y PUIB=02,PAB)=02 - % o
9 PA)=CISPB)=005 -~
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Ve 7) The set of data in the table below shows the results of a survey on the number of messages that people of different
ages text on their cell phones each month.

0-10 11-50
4 a7 6
[ 25 87
25 47 (7157 ) 229

If a person from this survey is selected at random, what is the probability that the person texts over 50 messages
r month@i¥@Mthat the person is between the ages of 23 and 60?

157 157
W 79 V3
157 157
T M 456
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.~ 8) The probability that a resident of a housing ¢! spport § o e sV EL ¥
community ‘opposes spending money for ¢ - T ?3 ol
community improvement onplumbingissues is 0.8. ' ¢’ Levsov” w0 o s ays 1o PE

The probability that a resident favors spending P!’ b1 I LES
money on improving walkways @i#@f)that the
resident opposes spending money on plumbing -
issuesis 0.85. Determine the probability that a P(AN > ) =
randomly selected resident opposes speading P(An%w
money on plumbing issucsf@iidjfavors spending 2= 1. F«-\) =
money on walkways. ' /
PlanE) = b Rs= L

/ ’.g) A student is chosen at random from the student ,

' body at af§i¥éMhigh school. The probability that ¢ (/ ooy = 5
the student selects Math as the favorite subjectis — ( \.w-M’ Sz e
The probability that the student chosen is ajunionis £l '

*. If the probability that the student selected is a
juniogr that the student chooses' Math as the :

favorite subject is —=, what is the exact a7 ) L -
108 — = oo
probability that the student selected is a junior Jore

@D e Arcveoens L ar
"the student 1s a jumor” and "the student's favorite —— T

i

)
subject is Math” independent of each other? og 13 not v
Explain youra;n;wcr 1 : 30 < = _§._I- " AQ-PQ--“ ({.Q..;:l
jgfa 1 oA 4 Sza T ous4 Ysa

: S
; / 10) A survey about television-viewing preferences was given to randomly selected freshmen and seniors at Fairport
High School. The results are shown in the table below,

Favorite Type of Pr
Sports | Reality Show | Comedy Series
Senior 23 110 67
Freshmen | 119 103 54
203

A student response is selected at random from the results. State the exact probability the student response is from
a freshmm-hc student prefers 1o watch reality shows on television.

Lo >

--"-'-_—._-
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.~ 11) Daa collected about jogging from students with two older siblings are shown in the table below.

7

4

Using these data, determine whether a student with two older slbllngs is more ltkeiy to ]og if one sxblmg jogsorif
both siblings jog. Justify your answer. .

For this group of students, do these data suggest that gender and preferred music styies are (EPEREATo ¢ cach

Neither Sibling] One Sibling Both Siblings
Jogs Jogs Jog
Student Does
Not Jog 1168 1823 1380
Student Jogs 188 416 400
223 q. i1 RO

fo( Studewrd 1 il \jf _,./ l/: : EARTY. P ot
L 2 Yo o =
{1, o 19 - 22
2234 AN T E

12) The results of a poll of 200 students are shown in the table below:

other? Justify your answer. P (

/ 13) The results of a survey of the student body at Central High School about television viewing preferences are shown

below.

SNsSwer.

Comedy Serles | Drama Serlee | Roality Serfes Total
Maloe a5 85 70 230
Famalos 80 70 110 260
Total 175 135 180 490
Are the cvents “student is a male” and “student prefcrs reality series” @ikIGpenteRp! cach other? Justify your
oy« PRS) = Plmnesy
s - 70
uao 40 HA O

- PRy = FIRL R
N
200 2P0 2580 rned Tk

Preferred Music Style
Techno Rap Country
Female 54 25 27 to G
Male 36 40 18 qu
S 200

She BN IR

A7) 7 .1
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S "21 4) A study was designed 1o test the cffectiveness of a new drug. Half of the volunteers reccived the drug. The other
' half received a sugar pill. The probability of a volunteer receiving the drug@igetting well was 40%. What is the
probability of a volunteer getting well, given that the volunteer received the drug?

— K . — ' oo ll fo
Tl T g el =S Pon U2 -
) N « D
PlwiP) = T2 TG

| % 5) The guidanf:e department has reported that of the senior class, 2.3% are members of key club, K, 8.6% are enrolled
in AP Physics, P, and 1.9% are in both. Determine the probability of P@RERX, to the nearest tenth of a percent.
The principai would like a basic interpretation of these resnits. Write a statement relating your caiculated
probabilities to student enrollment in the given situation.

ey .02 =P =,05, FlPAD= 00

_ V1M
o P = = 20T

y D22
&2.6%

\ 16) A suburban high school has a population of 1376 students. The number of students who participate in sports is
649. The number of students who participate in music is 433. If the probability that a student participates in either

spon" music 18 %, what is the probability that a student participates in both sports and music?

crs = (o ! R :ii’% (s um)y= ﬂ
) CT L Y1 1276
foc) ( Qo:_)/r\.,__\) — (./:S\/ L (;’: N) - p{:M 4 SB
g7t ff,_icr L :.J_..BB - X
\/17) Given events A4 and B, such that P(4) = 0.6, l—;:fiﬂ T 3Tl 2T
P(B) = 0.5, and P(4 L B) = 0.8, determine whether
A and B are independent or dependent. Y~ 0%
Plao3Ny = prpn s PLB -FLAD S 1270
N P §
ye 2 oy BB PUALE)

./ 18) In contract negotiations between a local
government agency and its workers, it is estimated ’ —_
that there is a 50% chance that an agreement will be plsalovers =
reached on the salaries of the workers. Itis Olvre =77
estimated that there is a 70% chance that there will .
be an agreement on the insurance benefits. There is 2 [ antayies U ins s
a 20% chance that no agreement will be reached on LT -
either issue. Find the probability that an agreement pfeatanen e
will be reached on both issues. Based on this
answer, determine whether the agreement on G egtags )
salartes and the agreement on insurance are
independent events. Justify your answer. R I s \\
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